Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2019 *** 4 giften per ronde *** NZ OW| gift 1 NZ OW gift 2 NZ ow gift 3 NZ ow gift 4 NZ ow
1 Houben Marc-Beckers Hilde 2 Linssen Els-Joosten Rik 1 2 6 8 -130 02K+2 2 12 140 Z3H= 14 0 1100 O3HI- 11 3 650 z4S+
3 Joosten Henri-Kerkhoff Ans 4 Plessers Julia-Paredis Rina 15 16 12 2 50 ogle 2 12 140 ngJ 0 14 -100 NSNJZ 11 3 650 z4si
5 Dirckx Lizette-Simons Josee 6 Kurent Annie-Paes Pascale 10 11 12 2 50 W3N11 7 7 170 ZZH+£ 12 2 200 OZHJZ 4 10 620 z4S=
7 Venken Olga-Smolders Wies 8 Rietjens Jac-Van Dynhoven Lambert - 5 12 -150 03K+E 13 1 620 Z4H; 10 4 110 N2R+f 4 10 620 z4S=
9 Essers Mieke-Pilet Josee 10 Male Charley—Van Hoey Angeline 3 12 12 5 50 W5K11 10 4 500 W4R!13 4 10 -50 N3N—f 11 3 650 z4S+
11 Dewael Albert-Coolen Raymond 12 De Rose Lucio-Herczeg Egidy | | |
13 Witters Clement-Briers Frans 14 Joosten Gert-Christis Margriet 136 0 14 -460 WSNﬁZ 3 1 620 Z4Hi 4 10 -50 NZN_% 0 14 -100 z4s-
15 Opdenacker Jef-Dewijngaert Guido 16 Molenaers Anne-Michiels Blanche 9 14 6 8 -130 03K+% 7 7 170 ZZH+% 4 10 -50 N2N-1 4 10 620 245:‘
8 6 8 -130 03K+; 2 12 140 ZZHfl 8 6 90 NIN= 11 3 650 Z4Sf
NZ OW| gift 5 NZ OW gift 6 NZ Ow gift 7 NZ ow gift 8 NZ Ow NZ OW| gift 9 NZ OwW gift 10 NZ oW gift 11 NZ oW gift 12 NZ oW
3 4 2 12 50 w3s-1 3 11 -300 N5KI- 1 13 -150 02K+3 O 14 -180 OIN+3 5 6 10 4 420 z74S= 12 2 620 N4H= 12 2 -420 04S= 8 6 -400 W3N=
12 15 0 14 -200 N5R-b 0 14 -500 N5K;- 14 0 140 ZSS; 7 7 -150 OlN+£ 14 1 10 4 420 z74S= 2 12 100 W4RJl 1 13 -480 O4SJ2 0 14 -460 W3N+
16 13 14 0 750 N3N!L 13 1 130 N4K; 1 13 -150 O4KJ1 7 7 -150 OlN+£ 8 15 4 10 140 Z2S+1 8 6 200 N3H+£ 1 13 -480 O4SJ2 13 1 50 WSNJ
9 5 9 110 N3R= 6 8 -150 O4R+f 12 2 110 ZZS; 7 7 -150 OlN+£ 16 11 14 0 450 Z4SJ1 4 10 140 N3H= 7 7 -450 O4S+f 3 11 -430 OSNJ
5 14 5 9 110 N2R+1 9 5 -100 N5K—£ 8 6 -100 ZZS—f 7 7 -150 02N+f 7 2 6 8 200 OlN—é 0 14 -150 W3R+2 7 7 -450 O4S+f 3 11 -430 WSNJ
8 12 2 150 038—5 13 1 130 NSKJl 6 8 -110 03K= 14 0 -110 WZRJl 3 10 0 14 -100 Z4S—E 8 6 200 N3H+2‘ 14 0 -110 OlSJl 13 1 50 WSNJ
11 2 9 5 130 N3R+f 9 5 -100 N4K—£ 4 10 -130 O4K= 7 7 -150 OlN+£ 13 4 2 12 -50 Z4S-& 14 0 650 N4HJ1 7 7 -450 O4S+f 8 6 -400 W3N=
7 10 9 5 130 N2R+21 3 11 -300 N5K!L 10 4 -90 02K= 7 7 -150 02N+£ 9 12| 10 4 420 z74S= ‘ 8 6 200 W5R!41 7 7 -450 O4S+£ 8 6 -400 W3N=
NZ Ow| gift 13 NZ OW gift 14 NZ oW gift 15 NZ oW gift 16 NZ oW NZ Ow| gift 17 NZ OW gift 18 NZ oW gift 19 NZ oW gift 20 NZ oW
10 4 140 N2S+1 2 12 -110 02S= 0 14 -300 ZIN-3 6 8 -50 N2S-1 9 10 0 14 -100 z4H-2 7 7 100 0O1K-2 6 8 -140 03H= 7 7 100 04s-1
7 120 N2N= 13 1 110 N2RJ1 2 12 -100 23811 6 8 -50 NZS—f 4 5 5 9 -50 Z4H—f 2 12 50 Olel 6 8 -140 O3H= 4 10 -620 04S=
10 13 0 14 -300 N3N-3 O 14 -120 OlNJl 12 2 110 ZZS; 6 8 -50 NSS—f 12 1 14 0 420 Z4H; 14 0 120 NlNJl 12 2 -90 WIN= 12 2 200 04s-
15 4 12 2 600 23N=‘ 9 5 50 OlN—f 8 6 90 ZIN= 2 12 -100 N4SJZ 11 6 5 9 -50 ZZN—f 0 14 -100 ZlNJl 6 8 -140 03H= 12 2 200 OSSJ
9 16 3 11 -100 N3K—& 9 5 50 OlN—f 8 6 90 ZIN= 12 2 140 NZSJl 15 14 12 2 90 ZlN:‘ 11 3 110 NZS; 10 4 -120 WIN+1 7 7 100 O4S—£
12 7 7 120 N2N= 5 9 -90 OIN= 14 0 140 z2S+1 12 2 140 NZSJl 7 16| 10 4 50 WZS—f 7 7 100 OlK—é 14 0 200 O4H12 12 2 200 O4SJ
1 6 3 11 -100 Z2N-1 5 9 -90 OIN= 4 10 80 Z1S= 0 14 -110 OSR; 3 8 5 9 -50 Z4H—f 11 3 110 NlRJZ 0 14 -620 O4H; 1 13 -660 OSNJ
11 14 14 0 1400 WSSQ— 13 1 110 NZRfl 8 6 90 ZIN= 12 2 140 NZSQl 13 2 5 9 -50 Z4H—£ 4 10 90 ZIN= 2 12 -180 OZN#Z 1 13 -660 OSN#
NZ OW| gift 21 NZ OW gift 22 NZ oW gift 23 NZ oW gift 24 NZ OW NZ Ow| gift 25 NZ OW gift 26 NZ OW gift 27 NZ oW gift 28 NZ oW
11 12 0 14 -800 NZK!F 12 2 430 NSNﬁl 9 5 680 N4H+% 10,4 3,6 420 Z4Si 13 14 8 6 200 W3N—2‘ 2 12 -100 ZSan 2 12 -50 26871 10 4 -140 OZS+%
6 7 2 12 -300 N2K-3 14 0O 490 N3N+3 9 5 680 N4H+2 0,1 13,9 -100 Z4S-2 8 9 8 6 200 03s-2 2 12 -100 z3N-1 11 3 450 z58= 7 7 -170 03S+1
14 3 8 6 -140 W3S= 1 13 -100 N4N12 0 14 200 N2H{3niet gespeeld 2 5 2 12 -100 NZR{Z 13 1 720 ZSN{4 11 3 450 Z4S{l 7 7 -170 OSS+#
13 8 4 10 -170 W2H+% 10 4 400 N3N= 9 5 680 N4H+% 10,4 3,6 420 z4S= 1 10 8 6 200 W2H-2 13 1 720 ZSNﬁ4 11 3 450 Z4Sﬁl 14 0 100 W3N7
9 2 12 2 50 04s-1 8 6 180 NIN+3 9 5 680 N4H+2 4,7 9,3 400 Z3N= 11 4 4 10 -90 WIN= 2 12 -100 Z3N-1 2 12 -50 z6S-1 12 2 50 W3N-
15 10 8 6 -140 03s= 1 13 -100 NSN{Z 9 5 680 N4H+% 2,4 11,6 -50 Z4871 7 12 14 0 400 W4H74 9 5 630 23N+# 6 8 420 z4S= 2 12 -450 048{
16 14 0 100 W5R-2 6 8 150 NIN+2 2 12 650 N4H+110,4 3,6 420 Zz4S= 15 6 0 14 -120 WIN+1 9 5 630 Z3N+1 2 12 -50 z6S-1 O 14 -590 04S!
4 8 6 -140 OZS+£ 4 10 120 N2N=‘ 9 5 680 N4H+£ 10,4 3,6 420 Z4S% 3 16 12 2 300 03N43 6 8 600 Z3N= 11 3 450 Z4S#1 4 10 -420 O4S=‘




